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Basic USE OF PERCENTAGES TRAN SCRAP T

l, Ezbu.walene ~Crc\¢l:'no~ns) Perccn{‘aﬁe.( amd‘ Au‘IMA'!.
2, Fl'ndmj o Perce"‘b‘ﬂ{ of « tpuq.ﬂ(_-.'t-j_

3. Increasinj o c‘vanéi(-j b'l a given percen{‘nje.
A ))ecfe,as;ﬂg a %\Mnhh:) '3.3 a ﬁ:\\len Puc:.n{mje.
S. Expremnﬁ one 7uam{';h1 al a perco&une ot ancbher/,

. Ezyuiva\‘&ﬂ't' -\Crc\Lé"bHS/ Pefce.n‘h«ﬁe.: a~d decmale

Fractioas percenb‘ﬁe_.( Decimals
| 100 7, |. 00
3 50 % 0.So
% 25 4 0.25
-+ 0 % 0.10
|
Joo | 76 0.0]
14 °
=3 83 % 0.8%3
160
—L 7 % 0.07

<
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Basic ULSE ofF P&aca}w—heﬁg
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T RANSC R\ PT

2. F’iné“rw\ & Pe(‘cené'pule ot o iuant—"é-\\;

NOH - Ca’cula(‘n/

a) Find 20%h of £84

Ioa/o = ‘é?A—O
= 204 = £16.80

b)  Find 25k of €8ky
25'6/» I{ Same af -—4!-_
So dwide bj 4-

4|z
17

17 kj

1) Find .7Y2 of S2m

Sot% =

26 m
25—70 S I3 mm
= T4 = 3m

d)  Find 154 of £23

102 = £2.30
Sh = £10¢

= 1€ =£3.4¢

Calculaéo/

e)

Find [7)h of £8¢

£84 x O0-17 = £14.28

'F) Find iq 70 0-6 ég kﬁ

68 k3 x 0.39 = éo.§2kj

g) Find 6h of S2m
$2m x0.06 = 3. 12 m

W) Find 104k of £23

£23 x [.o4 = £23.92
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3. f'\cfeﬂiht‘ a 4&\»4-.!:\{'.3 E.Q a gqiven ,Oefcea{-aie

a) Trereate £473 53 '725

Fieck Lind 17 5 of £43
243 x0.17 = £7.31
Nou c\JA éL;S t ofisc'—.a’

a3+ £7.3 = £56.31

b) In(,/t.u!e, 28'(3 53 352

First £ind IS4 of 28 kg
ngi\ x0.3C = 9.8 hy
Now add thi¢e & ar}sg.\d

28 kg + LBk = ITE kg

q. Bareag-,nj a 7‘,4«1{—;{-3 63 a iﬂvcn Percen(—ajg_

“) Decrease £43 b«g 22 )

First €ind 220 of £43
£43 x06.22 = £4G.46
Now suu:/qc_(’ Ehig £rom Of'\jinal

£43 < 49.46 = £33.54

l;,) Decrease 73 m 5'3 </

First £ind 8% o€ 73m
T3 %X 0.068 = S.84 m
Noaw Sugbfkcé' bk?s ;rom Of:liina)

T3 — S.84m = 6716 m

g, Exp(zSS'mg one 1v«n('?£j al a Parcenhae o€ ancther

a) Expnss 9 at 4 Puz.u‘hﬁc of 12

| s £ of 2

se 94 s 9

am——

2

of 12
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To tvrn a -pr&\(_(ﬁon mte a Pefcem‘f‘aso, we 5'.'*\{’"] hu'h‘ﬁ'j bu loo
3 2¢ |
A x loe” R
= = -7 - A
/

b_) ExPre.ss 42 as a perc.e.n{-aje ot (O

14 ¢ )
42 , lew =14xS = 70 /s
oo
<

c) Of the $62 stodents in a School, 318 ave qivls,

\Jl'\k{‘ Percah'!‘kge O'F &k( S{'\JA(n“'S Are ﬁ’s/ ls' qhd NL\Q“,‘

Pﬁfcc»{mﬁ( ase 503!?

Goel 38 100 = S¢.¢ /
62
Ry s 166 — S6.6 = AZ.4 b

d) Ir a Hotbal crowd of §S, 000/ theve wesre “)62{
awaa -&ns. Wku% Pe,rcen"-an 4‘F bl-\e_ A&ttndanc_e ‘NC/‘Q
awkl CM»\‘ ->

et leo = 2110 A
s‘s,aoa




